KUMBHAT FINANCIAL SERVICES LIMITED

(CIN: L65991TN1993PLC024433)

To, **BSE Limited** Phiroze Jeejeebhoy Towers Dalal Street Mumbai - 400001 22.03.2022

Sub: Loss of Share Certificate

Scrip Code: 526869

Dear/Sir,

Re: Intimation under regulation 39(3) of SEBI(Listing Obligation and Disclosure Requirement)Regulation ,2015.

We have been advised by the RTA of the loss of share certificate as indicated below.

Name of	Folio No	Certificate	No of	Distinctive	Distinctive
Shareholder		Number	shares	Number From	Number to
P.Vimal Kumar	8310	As per enclosure	2500	As per enclosure from RTA	Various as per enclosure

We are enclosing the RTA intimation.

Kindly take the same on your records and acknowledge the receipt.

Thanking You,

Yours faithfully,

For Kumbhat Financial Services Limited



Sanjay Kumbhat Director DIN: 03077193



CAMEO CORPORATE SERVICES LIMITED

REF: CAM:KFS:K-204-2023

Date: 22.03.23

KUMBHAT FINANCIAL SERVICES LIMITED & KUMBHAT COMPLEX 5TH FLOOR 29 RATTAN BAZAAR CHENNAI 600003

Sub: Intimation regarding loss of share certicate (s) under Regulation 39 (3) of SEBI (Listing Obligations and Disclosure Requirements) Regulations, 2015

With reference to the above subject, we would like to inform you that we are in receipt of intimation for los of share certificate from below mentioned shareholders. We have verified the same with the records and have apprised them the procedure for loss of share certificates as per details given:

Name of the shareholder	Folio No.	Certific	No. of	Distinctive Nos.	
		ate No.	shares	From	То
VIMAL KUMAR P	8310	3654	100	365301	365400 .
	-	6364	100	636301	636400
•		6365	100	636401	636500
N		6367	100	636601	636700
		6368	100	636701	636800
		6369	100	636801	636900
1992 1995		6370 .	100	636901	637000
		6371	100	637001	637100
	5	6945	100	694401	694500
		6952	100	695101	695200
		10944	100	1094301	1094400
		10945	100	1094401	1094500
		26943	100	2694201	2694300
		33948	100	3394701	3394800
		33949	100	3394801	3394900
		35482	100	3548101	3548200
		35483	100	3548201	3548300
		35484	100	3548301	3548400
		35485	100	3548401	3548500
		35486	100	3548501	3548600
		36882	100	3688101	3688200
		36883	100	3688201	3688300
		36884	100	3688301	3688400
		42110	100	4210901	4211000
e hattin see s y ttään seessa aan aan aan aan aan aan aan aan aan		42212	100	4221101	4221200
l statistica secondaria se Secondaria secondaria secondaria secondaria secondaria secondaria secondaria secondaria secondaria secondaria se					



CAMEO CORPORATE SERVICES LIMITED

Please note that duplicate share certificate (s) shall be issued only on receipt of complete documents including Form ISR-4 from the shareholder (s) including completion of procedural requirements in this regard to the satisfaction of the RTA and the Company. Duplicate share certificate (s) would be retained a our end and a "Letter of Confirmation" in lieu of physical share certificate (s) will be issued to shareholder.

We request you to take the above information on your record and do the needful.

Thanking you,

Yours faithfully

64

5.253

For Cameo Corporate Services Limited

P.Muralidharan ## Joint Manager

15 03 2023

From, P.VIMAL KUMAR 76 3rd FLOOR PRINCE PARK,E.V.K.SAMPATH ROAL VEPERY, Chennai – 600 007

To,

CAMEO CORPORATE SERVICES LIMITED, Subramanian building, No.1 CLUB HOUSE ROAD, Chennai – 600 002

Unit: -KUMBHAT FINANCIAL SERVICES LIMITED Subject: REQUEST FOR ISSUE OF DUPLICATE Your Letter Dated 27-12-2022 Reference No:-CAM/KFS/QUER/2022/NH/00000121 <u>Ref: Folio No's: 00008310</u>

-20

By Courier

2 0 MAR 2023

Dear Sir,

Reference to your letter mentioned above, I have enclosed all the documents as required by you for **ISSUE OF DUPLICATE** Shares into my name, hence I request you to kindly Issue the Lost shares in my name at the earliest.

- 1. Self-Attested Copy of PAN Card, Aadhar Card
- 2. Indemnity Bond of Rs. 100/-
- 3. Affidavit of Rs.100/-
- 4. ISR 4

Thanking you

Yours faithfully

VImi Kong P.VIMAL KUMAR

Encl: As above